md-(y7)-8d-45a

"12T0T Ua103Imy ‘Mo
nyunsAs

7°22 Auznjpod |1Joid oty

sAL N

o

EMIOAA J101d "Zul 18W | A2emmosesdo

mw GQSQ

SIS | co/aomdlsoto/avi Y1BMS JRUDIN “ZUl JSW | uenalon
s1apod reuaumeldn VYMODO0OYQ -ezuelg roysimzep 1 diuy reyund
00S:T | @ers)  AZDMVYNOJIAM-ONVIMOANG INIrOYd | el sséz
ANS10dOWIN “ompzpomalom INSNIHO04 -7emod VINIMYQ -euius

GTO "}3J "IPO $S'99Z+E - SO'TSH+T :31UIJIB) M ZBJIIDWO| 1)

eluimig Aulws a1uaJa) eu (quys‘eLLT *)0 19508n}p 0)
€L'9LT+E WY OTO0 "dpo op €°L6HT+T WY OTO PO "dpo eu
696 M@ 1304p aised m ysAmosomou-ozsaid |
YyaAmoiamod }aza13s 1391 [duemossdajuiz emopng

|d"eLsjuI@eIApy |d"elAp)

7 ..N\QN\SQUN.\QQ emzepn
MOXeIM £79-TC

DIUIMIQ 60L-CE 4L e

NNy p— £ oumiq [t
i pluImig pulwen FEiss
VIA emobo.ag ewdid 7 10359MU) uimiqg buiwo T

(SO'T8Y+T Wb STO 424 IP0) YT T6Y+T W OTQ ‘44 9pO
famouamoi-0zsald 1yza1ds [suuosysomedd fauemoryafold ya1ez004

JINFYIL M ZYHLINOTIN /Ndd OM ZV4LINOTIN -

VNIAZIM3Y VINGNLS YNVYMOLM3OYd -

VM31/VMYYd YMOLSNdM VINIIZANLS YNYMOLIIN0Yd -

ALITIMIN JSONOSAM "XVIA 8N NI - X

VMOZJZ53Q VIDVZITYNYY VNYMOLN3rOY¥d -

JINVMOZAZYXS -

ANZO8Nd aNT ANTYNQAIMAGNI AZV1Z -

19040 IS0 VLI1IMIN VIFINLSI -
VAINZIMYYN VLI TIMIN YNYMOLYIN0Y -
09IMONINZIMVHNAZY NX3ID$ VLT TIMIN YNYMOLYII0Yd -

YAN1971

(¥5°99z+€ Wy STO "Jo4 *9po)

€L°9LT+EWN

0000¢+¢ @

0000T+¢ @

00000+ @

00006t¢ @

1+ N f=] w Rt f=1 o] S fe=) ~ (=21 (=3 f=J
o~ 5] - e o > I FEA B ~ o © ~ [Sal ] N =4 bl e -~ 5] N © o
,MC._ S v [N o (%] o o =~ (21 o o (%] f=3 w w o v | w o v o0 o
q w o ~ o o e ()] o (%) w (5] o
woyeT=1 WEG?9=1 WTSeeT=1 WEG'TST=1
Hapis = = e = = [ I = = = = o = = = [ = = = = =
q 00 [+ o o [+ =& [+l [+ *<d [ oo oo o [+ (>3 (> [+ o | oo [+ [+ oo [+ o
e = = = = = & |5 & = = = = LS = = L ER = = = = =
MS w w " = S w w w w w S S e E w N == - - Ly N el
q {op] w e = ~ o (=2} w wu =2] oo o B =] =) =) o o | wu w (=) - B

125015317d0

JNOIZOd
DN 1 31S0Yd

NN3IY3IL INQ3ZY

IMONOId MNF I
VIN3ITAHOOd

AL313IMIN INQ3ZY

- 0081

- 0061

d'u w08t dd

W8Z'09=
%vE0-=!
i _ _ [ _ _ _ _ _ _ _ _ [ _ [ _ [ [~ _ _ _ _ [
opoo (=3 [+ [+ [+ [+ (=] (<] *<d [+ oo oo [ (>3 [+ [+ [+ o |00 [+ [+ oo [+ [+
HE = = = & = &= & = & & & = = s & = == & & = & =
upu S =S S w w N N Dl N w w w w w N - o |1o o o - - =
N— j¥=} o (=2} f¥=} N wu wu = ~ _ ) S oo oo (Y=} oo ~N | ~ (=} w (S} oo
o~ — o D (o] ™~ (Vo) LN <t o o — o (@)} co N~ i
97T 0v'z6T 9T'eL 5
He'eatpeupzl Logsreupz coegrenpz eupz) 2 esteupzl 90°¢81fRUPZI 60°€8f:eupzl
vedreupz S Py or'iTAI0F L 8 y8T:AigE 2l Mmﬁﬁéowe vrp8TA0S LTy8Tihiodn 8€pg[:Mod 2 e
1 Gredreup 5 p8[:A103 2l o 0EFZ0+EWY €5°€00+€[ o A 206+ DETSHFTWY s € LW
R,,mw‘”m%,.s tE €8Tleupz Tr'EgTFRUP'Z 6y egTeup 95 e4f-eupz om.amﬁ.. zw.s 6t vgr:AIo82) €740+ Wy 0pOT@ poT T3S 00010 €9T'T3S 00010 9L1 T3S 00qig 29T'TIS 000T@ 19T IS 00070 PITTIS N & 0007 LSTTIS
L9v81thioB L pt81fhiosu [5v81{kio51 s par ko8 o oy RIA9EZ 67 Lpo+eun 00019 S9TTIS B - \\\wm N e S 7
0F {4 e £ Tegeuy oe L6Tew oE ZhTHewy 67 Lpfewy brfeiie 0001 99T TS | — %050l %Ly 0-=! 3 %St’0=1 —
w0e0d - HO0H) (G- & 0001 pj1Is . T 00010 T T3S _ — Jneomt %0€°0-=! : wwoor@ wwoorg %0€°0=!
%0€°04 %0E°0=1 00T 69T T3S 000T§[89T T3S [ %0€"0=1 %0€ 0= Wwoore 1 W
Lok a0t 0=t %0€"0=1 = | %0€'0-=! o0 0= wwoore wwoor® L | I N 00V
O wwoorg T %0€"0=! . . %0€ 0= woovd wwoore
L | 00v@ wuweopE %0€"0=! e et %0€'0-=! WWooe wwioor
wwoopE %0€ 0=1 %0€ o..& Wwoobd
wwoob@ WWooY!
S =
2. 5 _—— .
W/ - i B - N 1
= 4 - - k=] ]
o == @ = — — = = S.
= = L . [
g = z = o 51 -
=l = o =X mv.m. =~[= ~[= S. ~ 5 S =
k) = 5 ® E 5 3 - - £ ~S =% 3| 3|2 5| H 2 =1 ~S .
= (=] == = 2. 3 = 2. « 2 S S = = < Slew
2 s o > @ S, 5o =15 5 5l ~|S 3. 5l 3|E NE & S| S = g & & 5|2
o =] S K=} 2. =1 3|e = |5 ols S|e =. >ls + [ o™ = al=s = S la o = el + | =
A = =. - == S|e w|s T+ | & Pl wls S| S|e Pl =1k heed w3 bt HI= 3|12 > Sl= ool *
Z s 3w Fle S| |5 xR == =y B Pls |5 SN S|= B|1E o2 =2 SE RI2 3 |5 N Q=
S 2 s rls Ll RS 3= Sl S Q= Q= =1 3= o2 3|5 & Slg =g el = |8 5|5 AN 5
2 T (= 5Y =z N1 B 9= b §= s = |2 RS B|= o2 ol gl = B E N S22 Sis == Nl ols
> g B 2= 3 S|= S o2 Rla i Es >\g Slg SE o2 =z S1E 5|2 52 5|5 =5 25 ol M =|2 P
a D == g == ol ~Nla —~|a N|= 3 =|e & ®|a s [ 2 e = Bla Xl 0|, oo < ~ 0 o —| 5 o
& 3 |5 25 2 |G Nla |z ME =[S ~|3 S =g =g =5 | Rla P Sl= £l 355 ES | N
X - g |z 3 |8 M ~NIE B Rla ®|x | =S ~s ®|a Sl= - e S — ST YRS [ Sz o
& = 7 2z Rla =g W= 3~ o o N - o L = S~ S5e
N ER-E e - ~ ~ — > — N =
e w3, o — D — = - 2 e G
s > 8
o + I
= =N m
3 282
£ 885

= 00781

— 00781

- 00'€8T

r 00781

- 00681

- 00981




